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  
TAXATION 

 

   :  3     : 60 

Time allowed : 3 hours   Maximum Marks : 60 

 Series : SGN/C  306

SET – 4 

 . 
Code No.  

   -  - 
    
Candidates must write the Code on 
the title page of the answer-book. 

       -    8   

 -            -  -    

       -  26    

         ,       

  -     15        -     10.15  
   10.15   10.30     -         
-       

 Please check that this question paper contains 8 printed pages. 

 Code number given on the right hand side of the question paper should be written on the 
title page of the answer-book by the candidate. 

 Please check that this question paper contains 26 questions. 

 Please write down the Serial Number of the question before attempting it. 

 15 minute time has been allotted to read this question paper. The question paper will be 
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 
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  :  

 (i)      

 (ii)         

 (iii)    1  9     -      1     
 (iv)   10  17           2        

     50         
 (v)   18  22            3       

      70         
 (vi)   23  26           5         

    150         
 (vii)       
 

General Instructions :  

 (i) All questions are compulsory. 

 (ii) Marks for questions are indicated against each question. 

 (iii) Question nos. 1 to 9 are very short answer questions carrying 1 mark each. 

 (iv) Question nos. 10 to 17 are short answer questions carrying 2 marks each. Answer 
to them should not normally exceed 50 words each. 

 (v) Question nos. 18 to 22 are also short answer questions carrying 3 marks each. 
Answer to them should not normally exceed 70 words each. 

 (vi) Question nos. 23 to 26 are long answer questions carrying 5 marks each. Answer to 
them should not normally exceed 150 words each.  

 (vii) Answer should be brief and to the point. 

 

1. 31 , 2017        80 C         ? 1  

 What amount of deduction can be claimed under section 80 C for the year ended 31st 
March, 2017 ? 

 

2.  80 CCC          ?  1 

 What payment qualify to claim deduction under section 80 CCC ? 

 
3.  80 D          ? 1  

 Who can claim deduction under section 80 D ? 
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4.            ? 1 

 When is a person liable to pay advance tax ? 

 

5.                ?  1  

 At what rate is tax deducted at source on payment made by way of interest on 

securities ? 

 

6.        ? 1 

 (a)   

 (b)   

 What form of tax is service tax ? 

 (a) Direct tax 

 (b) Indirect tax 

 

7.         ? 1  

 What do you mean by input tax credit ? 

 

8.        ? 1 

 What do you mean by input tax ? 

 

9.  -  -       ? 1  

 Is sale or purchase of goods in the course of import or export subject to CST ? 

 

10.                 ? 2 

 State the conditions under which a person is not liable to pay advance tax. 

 

11.   2017-18   60               2  

 State the tax rates slabs applicable to an individual who is less than 60 years of age for 

the Assessment Year 2017-18. 
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12.   2017-18  , X   80 D       : 2  

   2016-17       ` 11,50,000        : 
(i)       ` 20,000  

(ii)         ` 6,000 (        
 61          ) 

 X has business income of ` 11,50,000 during the previous year 2016-17. He makes the 
following payments by cheque. 

 (a) Mediclaim insurance premium on his own life – ` 20,000. 

 (b) Mediclaim insurance premium on the life of his father (61 years, resident, not 
dependent on X) – ` 6,000. 

 Compute the amount of deduction under section 80D for the Assessment Year 2017-18. 

 

13.   2017-18  , X             
      2 

  ` 

   9,00,000 

    3,00,000 

    50,000 

          ` 40,000    (2010-11  ), ` 5,000 

        ` 10,000          

 Compute the tax liability of X for the Assessment Year 2017-18. The details of his 
income are as follows : 

 ` 

Salary 9,00,000 

Income from House Property 3,00,000 

Income from other sources 50,000 

 During the year, he pays ` 5,000 as life insurance premium on the policy amount of  
` 40,000 (Policy taken in 2010-11). He also deposited ` 10,000 in Public Provident 
Fund. 

 

14. ‘ ’     ?             
      2 

 What is meant by declared goods ? Mention any two goods that have been declared to 
be of special importance. 
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15.           2 

 State any four features of service tax. 

 

16.                    2 

 Mention four broad services included in the negative list which are not chargeable to 

tax.  

 

17. ‘  ’      ?     2 

 What do you mean by bundled service ? Give an example. 

 

18.   2016-17        3  

          ` 

   1,80,000 

   1,20,000 

   50,000 

        : 

       ` 1,50,000 

          ` 10,000 

    2017-18              

 Ashok has the following incomes for the previous year 2016-17. 

           ` 

Business Income 1,80,000 

Interest on Debentures 1,20,000 

Short-term capital gain 50,000 

 He made the following investments during the financial year : 

 Public Provident Fund ` 1,50,000 

 Life Insurance Premium on ` 10,000 

 Own life insurance policy. 

 Compute his taxable income and tax liability for the Assessment Year 2017-18. 
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19.           ` 50,000             
 ` 10,000         2016-17       ` 30,000 

   ` 40,000           
   2017-18  ,              

    ` 10,000    3  
 X owns a house property which he has let out for ` 50,000 per month. He paid 

municipal taxes ` 10,000 per annum. 
 During the previous year 2016-17 he spent ` 30,000 on repairs and paid ` 40,000 as 

interest on loan borrowed for construction of the house. 
 Compute his income for the Assessment Year 2017-18 assuming that he made a 

donation of ` 10,000 towards Prime Minister’s National Relief Fund. 
 
20.         ?   2017-18        

    3 

 What is meant by payment of advance tax ? State the due dates for payment of 
advance tax for the Assessment Year 2017-18. 

 
21.               ?     3 
 When and how tax is to be deducted at source from interest on securities ? Explain 

briefly. 
 
22.         ?            

      3 
 What is meant by Reverse charge Mechanism ? Name any one service that is covered 

under reverse charge mechanism. 
  
23.  (62  )            5 

  ` 
 4,80,000 

 1,30,000 

 1,48,000 

   1,20,000 

               
        ` 1,00,000  

    2017-18   /   : 
 (1)         : ` 14,000 

  (  2010-11        ` 60,000 ) 
 (2)  60 percent        : ` 20,000 

   2017-18    -      
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 X (62 years) furnishes the following details of his income for the previous year         
2016-17.  

 ` 
Basic Salary 4,80,000 

Bonus 1,30,000 

Commission 1,48,000 

House Rent Allowance 1,20,000 

 He stays in his own house for which he does not incur any expenditure on account of 
rent. 

 He received interest on fixed deposits ` 1,00,000 (Gross). He made the following 
payments/investments during the previous year : 

 (1) Life Insurance premium on own life policy (sum assured : ` 60,000 policy was 
taken in 2010-11) ` 14,000. 

 (2) Medical treatment of dependent brother (person with 60 percent disability)                  
` 20,000. 

 Compute his taxable income for the Assessment Year 2017-18. 

 

24.       (81 )    2017-18       
        5  
       ` 

   6,00,000 

       

     50,000 

       

    60,000 

      

    40,000 

 80 C  80 U   ` 1,40,000  

 Compute the tax liability of X (81 years) for the Assessment Year 2017-18 on the 
basis of the following information : 

       ` 

Income from Salary 6,00,000 

Long term capital gain on sale of shares in a recognized 
stock exchange 50,000 

Long term capital gain on sale of Gold 60,000 

Short term capital gain on sale of jewellery 40,000 

 Deductions under section 80 C to 80 U are ` 1,40,000 
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25.        2017-18           5 
 ` 

   3,08,000 

   1,00,000 

   50,000 

   ` 60,000     (IX )    

 Compute tax payable by X for the Assessment Year 2017-18 on the basis of following 
information : 

        ` 

Income from Salary 3,08,000 

Income from House Property 1,00,000 

Winnings from Lottery 50,000 

Purchase of NSCs (IX) Issue 60,000 

 

26.    2017  ` 15,00,000   (Inputs)   ` 22,00,000     
       12.5%           ? 5 

 X purchases inputs worth ` 15,00,000 and recorded sales of ` 22,00,000 in the month 
of February, 2017. Input tax rate and output tax rate is 12.5%. Find out the amount of 
VAT payable during the month. 

____________ 


